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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

61- It was exciting that we could ....
1) walk freely at the military airport during our visit
2) walk at the military airport freely during our visit
3) freely walk during our visit at the military airport
4) walk during our visit at the military airport freely

62- Which sentence is grammatically CORRECT?
1) I will take on Thomson Street my driving test tomorrow morning.
2) 1 will take my driving test tomorrow morning on Thomson Street.
3) Tomorrow morning, | will take my driving test on Thomson Street.
4) On Thomson Street | will tomorrow morning take my driving test.

63- Which sentence is grammatically CORRECT?
1) They play always football happily in the stadium.
2) They always play football happily in the stadium.
3) They in the stadium always play happily football.
4) They always football play in the stadium happily.

64- Which sentence is grammatically CORRECT?
1) We at school didn’t have lunch yesterday.
2) We yesterday lunch didn’t have at school.
3) We yesterday didn’t lunch have at school.
4) We didn’t have lunch at school yesterday.

65- Higher ... institutes are providing university students with the latest information on different
subjects.

1) diet 2) education 3) health 4) medicine

66- One of the reasons that you’ve ... ten kilos in six months is that you always eat alone, especially
in front of the TV or computer.

1) received 2) won 3) jogged 4) gained
67- My brother ... swims in the sea because he was attacked by a shark when he was a child.
1) rarely 2) frequently 3) mostly 4) additionally

68- The ability to help learners understand the key points through giving good ... is the most
important quality of a teacher.

1) grades 2) explanations 3) manners 4) blanks

69- Children are very ..., and it is really wonderful how quickly they learn subjects such as
language and music.

1) appropriate 2) healthy 3) favorite 4) smart

70-You should search the new words in a good dictionary because most of them are ... unavailable
in the one you are using now.

1) simply 2) kindly 3) loudly 4) correctly
71- The new company is ... “Truly White” because all of its products are made up of milk from the
local farms.

1) rearranged 2) respected 3) called 4) borrowed
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72-1 like the fact that you can come here to ... out for a few hours and nobody will bother you.
1) watch 2) compare 3) hang 4) turn
PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

To lower the risk of depression, people can eat everything, as long as they try to eat lots of
vegetables, fruits, nuts, and fish. ...(73)... for your health, but research suggests it may have negative
mental effects. Doctors at Sheffield University have found out that volunteers who followed a twenty-
five percent fat diet reported feelings of depression and bad mood. It’s important for people to eat as
much as they need to give them energy. If they eat too little food or the wrong food, ...(74)... . If they
eat too much, they will need to do ...(75)... exercise; otherwise they will put on some ...(76)... .

73- 1) A low-fat diet may be good 2) A good low-fat diet may be
3) good diet may be low-fat 4) low-fat good diet may be
74- 1) having enough energy they won’t 2) they won’t have enough energy
3) enough energy they won’t have 4) they have will not enough energy
75- 1) fluent 2) oral 3) depressed 4) daily
76- 1) object 2) action 3) weight 4) difference

PART C: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Communities have come and gone throughout history, and with them their languages. But what is
happening today is abnormal, judged by the standards of the past. This language extinction happens
on a massive scale. There are 6,000 languages in the world. Of these, about half are going to die out
in the course of the next century. On average, there is a language dying out somewhere in the world
every two weeks.

If linguists find a language with just a few speakers left, they conclude that the language is bound to
die out soon. And we have to draw the same conclusion that if a language has less than 100 speakers,
it is not likely to last very long. A survey shows 97% of the world’s languages are spoken by just 4%
of the people.

It is too late to help many languages, where the speakers are too few or too old, and where the
community is too busy, just trying to survive, to care about its language. But many languages are not
in such a serious position. Often, where languages are seriously endangered, there are things that
can be done to give new life to them, a process which is called revitalization.

77-Which of the following statements is NOT true, according to the passage?
1) The rate at which languages are becoming extinct has increased.
2) The number of languages dying out is increasing.
3) Nothing can be done to save a dying language.
4) In order to survive, a language needs to be spoken by more than 100 people.

78-The word “its” in the third paragraph refersto ... .
1) position 2) survey
3) community 4) speaker

79- It can be inferred from the passage that the writer believes ... .
1) language extinction on a large scale is an unusual happening
2) saving language should be the major concern of small communities
3) 3 percent of the world’s languages are going to die out soon
4) linguists play an important role in saving the world’s languages

80- The paragraph following this passage most probably deals with ... .
1) how to save languages
2) help from language experts
3) why languages are endangered
4) the process of revitalization
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